Property DH Estates & Future Interests Exams:

Answers & Explanations
Generally, you did quite well on this test.  The median was 17/20, only 7 of you got fewer than 13/20, and 9 students got perfect scores.  The questions and answers are laid out below.  Correct answers are in bold type.  My comments are in italics.

(1) Which of the following is not a present possessory interest?
This is essentially a repeat of sample question #1.

(a) Fee simple on condition subsequent

(b) Life estate pur autre vie.  A life estate is a present interest, whether held by the original grantee or, as in this case, by someone else.
(c) Term of years determinable.  A term of years is a present interest.  Because it is determinable, it will end if the condition is met before it terminates naturally, but that doesn’t effect the holder’s right to present possession.
(d) Vested remainder in fee simple. .  A remainder is a future interest that follows a finite present interest.  100% of you got this right, making it the easiest question on the test.
Questions 2-3 are based on the following grant: Eric grants Blue-acre “to David for life, then to Jason if he becomes a lawyer, but if Jason never becomes a lawyer, then to India.”
David gets a life estate.  Jason and India have alternate contingent remainders (either Jason becomes a lawyer before he dies and his interest vests or Jason dies without becoming a lawyer and India’s interest vests).  Eric retains a reversion.
(2) If the grant takes place in 2005, all of the following interests are created except:


(a) Life estate in David.

(b) Contingent remainder in Jason.

(c) Shifting executory interest in India.  If Jason had a vested remainder, this would be correct, but India’s interest will not cut off a present or vested estate, so it is also a remainder. Only 51% of you got this correct, making it the second hardest question on the test.

(d) Reversion in Eric.  45% of you picked this answer, even though there must be a reversion if Jason has a contingent remainder, which you must have realized he does because you didn’t pick (b). 
(3) Assume that Jason became a lawyer, then died leaving a valid will devising all his property to Cyrus.  Subsequently David died intestate.  If the grant took place “at common law,” who would then have the right to possess Blue-acre?
When Jason becomes a lawyer, his remainder vests and India’s remainder fails.  However, at common law, Jason’s vested remainder is in life estate, because the grant does not say “and his heirs.”  Thus, when he dies, his interest dies with him.  At David’s death, Eric’s reversion (which must follow the remainders in life estate) becomes possessory.

(a) Eric, because of the Doctrine of Destructibility of Contingent Remainders.  The destructibility doctrine would come into play if David had died before Jason’s interest vested, but it doesn’t affect a vested interest. 22% of you chose this answer.

(b) India, because of the Doctrine of Destructibility of Contingent Remainders.  India’s interest fails as soon as Jason becomes a lawyer (either at common law or today)

(c) Cyrus, because Jason’s interest vested before David’s death.  Because Jason’s interest was in life estate, it could not survive Jason’s death. 24% of you chose this answer.

(d) Eric, because of the presumption favoring life estates.  Only 49% of you chose 
this answer, making this the hardest question on the test.
(4) Which of the following future interests is not initially held by a grantee?
This is sample question #2, rephrased in the negative (originally, it asked which one was held by the grantor)..

(a) Contingent remainder in life estate.


(b) Possibility of reverter. This is the future interest held by the grantor that follows a determinable present estate.  88.5% of you got this right.

(c) Shifting executory interest.

(d) Springing executory interest.  A springing executory interest cuts off the grantor’s interest, but is always held by a third party, not by the grantor.

Question 5 is based on the following information: In 1990, Dana conveyed Purple-acre “to Erin for life, then to Lauren’s children alive at Erin’s death and their heirs.”  At that time, Lauren had two children, Gregory and Matt.  In 2000, Gregory died, leaving all his property to Joe in a valid will.  In 2001, Erin died.  In 2003, Lauren had an additional child, Robert.
(5) Assuming that Purple-acre has not been transferred in any way besides pursuant to the information above, who owns Purple-acre in 2004?
The grant to Lauren’s children requires that they be alive at Erin’s death.  Gregory dies before Erin, so he has no interest to leave to Joe or to his heirs.  Robert was not even conceived at the time of Erin’s death, so he does not meet the condition either.

(a) Matt. 66% of you got this right, making this tied for the third hardest question on 
the test.

(b) Joe and Matt.  28% of you chose this answer, I would guess because you didn’t 
read the grant carefully enough.

(c) Gregory’s heirs and Matt.  

(d) Joe, Matt and Robert.
Question 6 is based on the following grant: In 2002, Jason grants Red-acre “to Brian for life, then to Vikram, but if Vikram ever uses the property for agricultural purposes, Ryan can enter and take it. 
This is Sample Question 11
(6) Vikram has:

(a) a vested remainder subject to divestment.  This would be true if Vikram could lose his interest prior to coming into possession, but he can’t use it until her possesses it.  

(b) a vested remainder in fee simple on executory limitation.  Because Vikram can only violate the condition after he takes possession of the property, the condition is a limitation only on the interest he will eventually receive.  It will be a fee simple on executory limitation because if the condition is violated, the property will pass to a third party, not back to the grantor.  85% of you got this right.
(c) a vested remainder in fee simple on condition subsequent.  This would be true if the property would pass back to the grantor if the condition is violated.

(d) a contingent remainder.  The remainder is vested because Vikram is a living ascertainable person and there is no condition on his tasking expressed in the grant.  The condition here is on Ryan’s interest, not Vikram’s.  

Questions 7-10 are based on the following grant: In 1990, Chad dies leaving a valid will that says: “I leave Jade-Acre to Rachel so she always has a place to call home so long as Rachel doesn’t use the property for commercial purposes, then to my nephew Matt and his heirs if Matt reaches the age of 21.  I leave all my other property to my friend Lindsay.”

Questions 7-10 mostly follow Sample Questions 43-46.

(7) Which of the following arguments supports a claim that Rachel’s interest is a defeasible fee simple (rather than a defeasible life estate)?

(a) Modern American jurisdictions presume that an interest is a fee simple absent clear evidence of intent to the contrary.  This is part of White v. Brown.  99% of you got this right, making this tied for the second easiest question on the test.
(b) The grantor cannot have intended Matt to take possession of the property while he still was underage. This explains the wording of the grant to Matt, but doesn’t give us information about Rachel’s interest.

(c) The condition regarding commercial use restricts Rachel, not Rachel’s heirs.  If anything, this suggests a life estate, since the restriction only lasts as long as Rachel is alive.

(d) Most American jurisdictions have eliminated the Doctrine of the Destructibility of Contingent Remainders.  This may determine the fate of Matt’s interest, but seems irrelevant to whether Rachel’s interest is fee or life estate.

(8) Which of the following arguments supports a claim that Rachel’s interest is a defeasible life estate (rather than a defeasible fee simple)?

(a) The grantor’s use of the word “then” rather than “but” (to introduce Matt’s interest) suggests that the interest is a remainder rather than an executory interest.  We discussed this argument in connection with interpreting ambiguous grants of this type.

(b) If Rachel’s interest is a fee simple, she can sell it and she would not “always have a place to call home.”  This is similar to one of the dissent’s arguments from White v. Brown.

(c) The grantor used “and his heirs” when he wanted to create a future interest in fee simple in Matt. This is one of the dissent’s arguments from White v. Brown.

(d) All of the above.  95% of you got this right, making this tied for the fourth easiest question on the test.

Questions 9-10 are based on the same grant as Questions 7-8 plus the additional information in the following paragraph:  After Chad's death, Rachel moved onto Jade-Acre, where she ran an over-the-internet search business from her computer. Before Matt turned 21, Rachel died without leaving a will.  

(9) Assuming a court views Rachel’s interest as a defeasible life estate, and finds that Rachel’s internet business did not violate the restriction on commercial use, who owns the property at Rachel’s death?

In this scenario, initially Rachel has a life estate determinable, Matt has a contingent remainder, and Lindsay holds a reversion (from Chad’s will) and there is a possibility of reverter (whose owner we need not determine).  The condition can only be violated by Rachel, so once she dies, the possibility of reverter fails.  If the state destroys contingent remainders, Lindsay has a fee simple absolute.  If not, Lindsay has a fee simple on executory limitation and Matt has a springing executory interest.

(a) Lindsay in fee simple determinable, if jurisdiction destroys contingent remainders. This is wrong because the condition ends with Rachel’s death.

(b) Lindsay, in fee simple on executory limitation, if the jurisdiction does not destroy contingent remainders.  91% of you got this right.
(c) Chad’s heirs in fee simple on executory limitation, if the jurisdiction destroys contingent remainders.  This answer is wrong on two counts.  First, Chad’s reversion passed to Lindsay.  Second, if the jurisdiction destroys contingent remainders, the remaining interest is fee simple absolute.

(d) Rachel’s heirs in fee simple absolute, if the jurisdiction destroys contingent remainders.  If the court finds Rachel’s interest to be a life estate, her heirs have no interest that survives his death.

10) Assuming a court views Rachel’s interest as a defeasible fee simple and finds that Rachel’s internet business violated the restriction on commercial use, which of the following would be relevant to determining who owned the estate?

In this scenario, when the condition was violated, it automatically passed to the holder of the possibility of reverter because of the “so long as language” and the complete absence of any language that looks like condition subsequent.  The possibility of reverter would have passed through Chad’s will to Lindsay only if possibilities of reverter are devisable in the jurisdiction.  Otherwise, it will pass to Chad’s heirs, who cannot include Lindsay, who is a “friend.”

(a) Other cases interpreting “commercial purposes.” This was a new addition to the question.  It is incorrect because the problem says that the court already has found that the condition was violated, which makes further discussion of this type of case irrelevant.

(b) Whether the jurisdiction destroys contingent remainders. If the court finds Rachel’s interest to be a defeasible fee, there can be no remainders in the grant to destroy.  25% of you chose this answer.

(c) Whether possibilities of reverter are devisable in the jurisdiction. As noted, 
this will determine whether Lindsay can get the property.  This is an application of 
the discussion we had about Mahrenholz.  66% of you got this right, making this tied 
for the third hardest question on the test.
(d) The presumption in favor of fee simple on condition subsequent.  The presumption doesn’t apply where the grant is so clearly in the form of a fee simple determinable.

Questions  11-13 are based on the following grant:  In her valid will, Geri grants Fish-Acre “to Chaitan for life, then to Allison and her heirs, but if my daughter Lisa marries a public school teacher, to Lisa and her heirs.”  
These questions largely follow Sample Questions 19-21, except that the grant lists “a public school teacher” rather than “an artist.”

(11) Which of the following is true?

(a) Allison has a vested remainder subject to divestment.  Allison’s interest is a remainder because it follows a life estate; it is vested because she is alive and ascertainable and no condition precedes her taking; it is subject to divestment because she can lose it before he takes possession if Lisa marries an artist. 94% of you got this right, making it the fifth easiest question on the test.
(b) Lisa has a contingent remainder.  Lisa’s interest follows and would cut off a vested remainder, so it must be an executory interest.

(c) Lisa has a springing executory interest.  Lisa’s interest would cut off another grantee, so it is shifting.

(d) Geri has a reversion.  Where a vested remainder in fee follows a life estate, no reversion is created
.

(12)  All of the following facts would be relevant to the determination of whether Chaitan’s interest is best characterized as a life estate on executory limitation except: 

(a) Geri repeatedly expressed concern that if Lisa (who was a public school teacher herself) married one of her teacher friends, Lisa would starve to death. If Geri was worried that Lisa would starve, she would want her to have the property immediately.

(b) The grant to Lisa does not include the word “then.”  If the grantor wanted to be clear that the grant to Lisa had to wait for the end of the life estate, using “then” would so indicate.

(c) Allison is Chaitan’s sister. The grant to Lisa will cut off Allison whether or not it cuts off Chaitan.  Thus, the relationship between them would seem to be irrelevant to the question at issue here.  91% of you got this correct.
(d) Chaitan is fourteen years younger than Lisa.  If this is true, it makes it less likely that Lisa should have to wait for the life estate to end to take the property.  E.g., if Lisa marries a teacher at 30 and Chaitan is 16, that would mean that she could easily expect to wait 50+ years to get the property, which probably makes the grant serve no purpose as an incentive. 
(13)  If the condition that Lisa marry a teacher is challenged as being against public policy, which of the following facts support treating this grant differently from the one in Shapira?  
I changed the answers some from those in Sample Question 21.  
(a) It will not be very difficult for a court to determine whether someone is a “public school teacher.”  A court would probably view this as a correct statement (certainly as compared to determining whether someone is an “artist” as in the prior incarnation of the problem).  However, it supports reaching the same result as Shapira:  upholding the grant.
(b) There are thousands of public school teachers residing in the city where Lisa lives.  This also supports reaching the same result as Shapira because of the wide range of possible spouses.
(c)  At the time Geri died, Lisa was engaged to be married to a lawyer whom Geri despised.  Shapira draws a distinction between a well-developed estate plan and an in terrorem condition.  If the court believed that Geri created the grant here just to break up Lisa’s pending wedding, it might well view this as equivalent to an in terrorem grant and strike it down. 75% of you got this right.
(d) All of the above.

Questions 14-16 are based on the following grant:  In 2001, Tara’s valid will granted Palm-acre “to my friend Matthew only if he prays daily in my memory in the chapel on the property, but if he ceases to do so, the property should be retaken.” 
These questions are another variation on Sample Questions 5-8 & 51-54.  
(14) Which of the following arguments support characterizing Matthew’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent)?

(a) The condition requires Matthew to act on a continuing basis. This is true of many conditions that are in the form of a fee simple determinable such as the one in Mahrenholz itself.
(b) The future interest was retained by the grantor. This is true both of the fee simple determinable and the fee simple on condition subsequent, so it does not help you decide between them.
(c) The grant uses the word “only.” Mahrenholz uses this argument in support of its conclusion that the grant before it is a fee simple determinable. 94% of you got this right, making it tied the second easiest question on the test.
(d) Most states have a presumption in favor of the fee simple determinable. This is incorrect; most states have a presumption in favor of the fee simple on condition subsequent
(15) All of the following arguments support characterizing Matthew’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Most states have a presumption in favor of the fee simple on condition subsequent. This is true.
(b) The grant is structured in two parts. As we discussed in the context of Mahrenholz, this structure supports treating the grant as a fee simple on condition subsequent  
(c) Saying that the property “should” be retaken seems to leave the holder of the interest more discretion than saying that it “will” or “must” be retaken. This is a sensible argument relating to the grantor’s intent; the use of should may show an intent to give the holder of the interest the option of when to exercise the right.  Cf. Mahrenholz:  “will revert to grantor.”
(d) It will be almost impossible for a court to determine whether Matthew has violated the condition.  This is an argument that normally supports treating 
a grant as a fee simple on condition subsequent (like the case about building the hospital in Mahrenholz.  However, on these facts, if Matthew stops going into the chapel, it will be easy to determine that there has been a violation. 92% of you got this right.

(16) All of the following concerns would be relevant to determining whether the grant should be considered void as against public policy except:  
Unlike the equivalent questions in the earlier versions of this problem, this question simply asks about relevant arguments, not about arguments that support a particular position.  

(a) It is unduly burdensome for the grantee to have to be present on the property every single day in order to retain ownership.  This seems a plausible argument.  If enforced literally, Matthew would lose the property unless he managed to go to the chapel there every single day of his life. 

(b) It is too hard to monitor an activity that takes place daily.  Given the grants we’ve studied that require the property to be used “for school purposes” or “for church purposes,” both of which would seem to require constant use by the entity in question, this is a very unlikely result.  67% of you got this correct, making this the 5th hardest question on the test.

(c) Determining whether the condition has been violated might require deciding the difficult question of what constitutes a prayer.  The court will prefer not to have to make a subjective determination about a religious question.
(d) The chapel is clearly dedicated to one particular religion.  This was a new answer. I think it is relevant because a court might be disinclined to force Matthew to engage in religious activity in a chapel dedicated to a religion he doesn’t believe in himself.  The more religiously neutral the chapel, the less burdensome it is to ask Matt to pray there. 18% of you chose this answer.
Questions 17-20 are based on the following information:  In 1975, Austin granted Blank-acre “to Tim for life, then to Tim’s children, but if Tim is not survived by any children, then to Billy and his heirs.”  At the time, Tim had no children.  In 1977, Tim has a child, Stephen. In 1997, Stephen dies leaving all his property in a valid will to the Red Cross. 

The grant is the same as that in Problem 3M.   Questions 17, 18 & 19 are the same as Sample Questions 12, 14 and 15.  Question 20 is new.

(17) In 1975, the interest in Tim’s children is a

(a) Contingent remainder. The interest is contingent because no children are born yet.  95% of you got this right, making this tied for the fourth easiest question on the test.
(b) Contingent remainder subject to divestment. There is no such thing; subject to divestment only modifies “vested remainder.”
(c) Vested remainder subject to open. The interest can’t be vested because no children are born.  
(d) Vested remainder subject to divestment. Same as (c).
(18)  When Stephen is born, which of the following is then correct?

(a) Stephen has a contingent remainder in fee simple. When Stephen is born, he gets a vested remainder (because he is living and ascertainable and there is no condition precedent in the grant to the children) subject to open (because more children could be born) subject to divestment (because he could lose his interest prior to coming into possession if Tim dies survived by no children.).  This answer is wrong because, given the way the grant is worded, the survival condition is part of the grant to Billy, not the grant to the children.

 (b) Stephen has a vested remainder in fee simple on executory limitation. This is wrong because Stephen can only lose the property before coming into possession.  If he moved on to the property, by definition he would have survived Tim and the grant to Billy would have failed.  
(c) Billy has a contingent remainder in fee simple. Once Stephen’s interest vests, Billy’s interest becomes a shifting executory interest, because it must divest a vested remainder to become possessory.
(d) Austin’s reversion divests. Because initially there were two contingent remainders, Austin retained a reversion.  When Stephen is born and the children’s interest vests, the reversion is no longer needed as a placeholder and the reversion divests.  76% of you got this right.
(19)  When Stephen dies, what happens to his interest?

(a) It passes to his heirs. Stephen can pass a vested remainder to anyone he wants at his death.  Because he had a valid will, it will pass through the will not by intestacy.
(b) It passes to the Red Cross. At his death, Stephen had a vested remainder subject to open subject to divestment.  The interest is not (by its terms) dependant on Stephen surviving Tim.  Billy only takes over (divesting Stephen’s interest) if Tim is survived by no children at Tim’s death.  Since Tim is still alive and can have more children, Billy’s interest has not vested.  Stephen’s interest will remain at least until Tim’s death, and is held by the Red Cross. 86.5% of you got this right.

(c) It is destroyed. As noted, the interest can only be destroyed by Billy’s interest vesting, which cannot happen until Tim’s death.
(d) None of the above.  

(20)  Which of the following events would make Billy’s interest fail?
(a) Billy dying before Tim.  The grant does not make Billy’s interest contingent on his surviving Tim.  
(b) Tim having another child who survives Tim’s death.  Billy’s interest only fails if one or more of Tim’s children survive Tim.  77% of you got this correct.
(c) Billy dying intestate without heirs.  This makes Billy’s interest pass to the state, but it would not fail (which means “cease to exist” in this context).
(d) All of the above. 
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